T Ak SAMUeh TE UISTUT YAkt @I sl T gl ST q&l dek 7 Gict

TRteTuT giant

HHT 3T

(3TaEeR IS AT udie)
faien- 08-10-2023

g ;& gue qutieh : 200

IR

1. TOgT UR™T 1 & U o9, 37T 3H U0 Yieeht it Ugdriel 31ava oY o e gad s famm
BUT, Tel AT TeT E3TM TS ST U9 3NE 7 &Nl Afd TET & ar 3H WEr Uieion giaent § a&at
it

2. ITR-UFh § WE WM W UieiuT YRRt ST A, B, C A1 D genfiafd e ®§9 ¥ fedg s

3. 79 Ufd % 1 ¥ &3 T RIS § YR SO SHAI foae €1 wiern g W 3R % 7 fod

4. 3@ wer gfcsht ® 100 g9 (e) f&F T ) g weAre et ofit ot ¥ sW B yed geAw
H 9N g (IW) @ M R T W T T
F A o, S A9 IW-=F W AfeRa wE =med
F1 9 aueR! TE o foF U 9 stfue g wE
g @ 3H IR HI Afhd HX S AR FAE T TAF WA % e had Tk & IR T E

5. SMUh! IO W YRR oten ¥ R U Sw-we W OE sifhd & € Sw-w § Rk fadw
3@ ol

6. |f yeAl % 3w wEH B

7. 399 Ted foh o9 we gieer & fafa= gl & T SW-TFe W SAfhd R YR Y, e
WAl THO-TS % WY U SRSl % SUR h® faeRer Sw-we | < 2

8. 39 3T il YU &l ST-TAH § WA & dK 91 T & FHOH W Had Sa-TA TEEh hl
i | STkl SO W1 THe0 YRRl of STH T AR 2

9. = ®M & ¥ & TF e YRewt & Fd § o

10. Tetd 3T & Tod g
TS Yy W SEiEaR g fed U ew s & fo g3 famr wmom

(i) 9% Yo & ford wR Sfersd SW 21 SHASAR g yE WA & fod i@ T U e S % fod
i 7q fod fo6a U siet o1 ueh-Taets < & &9 H wrer smom

(i) % *iE IH<aR T @ sifeeh I @l €, @ W Terd IO 9 S, = 5 T sw 9@ uh S
e 7, 39 Y9 & o SwdFaERr & < fear s

(iii) % SR g *IE Y 8 &l foman Sar € ereifq SEitar g SwR e o < €, A S| ue &
o g g =t fean smom

T Tk T TE UIILUT YRAHT T il T gl ST ad a7 @it




1. fefSea =afoma 2o weor sfufqam-2023 =

Hed o, ffafea suai ® fo=ar s

1. 7% sifuftag 391 & iR 9 W 5
e fefSiea =fam @ S & TR W @]
g 2

2. I Afufem %% WHR *l Al 9 Go
T &, S WINHT HE AT BSH HT
ATIFR JIH B B

3. 39 AYIY & Tdld $g WHR §R TR
T WU S H1 TAYAT HT WEHE fHa
T Rl

Srfe H ¥ fha we wet 27

(a) heed TH

(b) Had T

(c) 9t =

(d) ®E of T

. fovafaeme oRm omm 9 dafua fr=fafed

FeAl W =R Fifee:

1. SHHT TOAT 28 fREeR, 1953 &l &1 TE off|

2. IO e % HaY | favafaeem sEE
WM g UGC frams 2008 S faan
T R

ITE wodl § 9 HA-E/A T 22

(a) Had 1

(b) oA 2

(©) 1 @R 2 <

(d Tl RAEH2

. SHfavar (yadm o weneE) sifufem, 2023 &

siqria fafe= &l o foRa o weneAl 9 et

ffafed wo W foer #ifsa:

1. I fufm ardm == erfufem, 1927 =
o ey § HIE i Gl hl AT Il

2. Ig oifufrm widRge sifuftam, 1957 #
ferdlt mfereRmdt = TR Rl i 39 steren
Jaifad w3 & ford Tad 99 9 WSS &
WEYM i wiedl 2

ST el § 9 HA-A/E TE 2R

(a) ®ad 1

(b) HaA 2

(c) 1 @R 2 T

(d Ta1 AT 2

1. With reference to the Digital Personal Data

Protection Act-2023, consider the following
statements:

1. This Act applies to the processing of digital
personal data done inside and outside the
country.

2. This Act empowers the Central Government to
obtain information from individuals, modify
or delete data.

3. Under this Act, provision has been made for
the establishment of the Indian Data Protection
Board by the Central Government.

How many of the above statements are correct?
(a) only one
(b) only two
(c) all three

(d) none

. Consider the following statements related to the

University Grants Commission:
1. It was established on December 28, 1953.
2. UGC Regulations 2008 have been issued by
the University Grants Commission in respect

of higher institutions.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

. Consider the following statements related to the

amendments made in various laws under The Jan
Vishwas (Amendment of Provisions) Act, 2023:

1. This Act abolishes the punishment of
imprisonment in respect of encroachment,
encroachment by cattle, felling of timber
under the Indian Forest Act, 1927.

2. This Act adds to the Copyright Act, 1957 the
provision of punishment for making a false
statement to deceive or influence any authority
or officer.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2
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4. YA SHfdEE e & wed #, fr=fafaa

HoAl W fo=m wifsE:

1. &1 TTeA U fafewan smm sifufm,
2016 % efarfd feman T B

2. TuEEgl SR fEwEd fafean foen %
ST § GUR A TR THE@ e B

3. 9Rd & @ & Afewa X a9 @
% fod T (AIIMS) i &9 31 ot et

@ & R
Srde H 9 o we wet #72
(a) HaA TH (b) Feel |
(c) |t o= (d) = off T

5. gigelial g ARFA 3T & ar | F=fataa

HYT | fa=r wifsa:

1. I8 RBI & fo@ ordoyemen § e &l
fafafaa e 2 foxfta @ 1 ety
A AW F T H FE FE B A TE
T H wTH T H 2

2. oduE #, Sehl i SAUHI g Wi AR T
AIREr 1 3.5 Ufaed CRR & &9 § RBI
% U WA SAEYIE €

STE woAl § 9 HA-T/A T 2R

(a) Had 1

(b) oA 2

(c) 1 @R 2 g

(d) a1 3R 2

6. W@ SEETE I AT @ wetE RO

Hed o, fr=fafaa ol W faar wifs3:

1. = R v v & g | 1 T B

2. 79 fl % @R wq@ el # sid
&I SUAN 49% B

3. 9RdE d<uEl, faviy ®9 @ ufvedt 9@
el SR 1 A9 B

STH wedl § 9 HA-T/A TE 2R

(a) e 1 3R 2

(b) Had 2

(c) wad 2 3R 3

(d 1,2 3R 3

7. Uq RAH ASHl Geferd B-

(a) WM e oA HIET §

(b) TSH waew feen-fdw 9

(c) |t TSEPT w1 Ted wifaT ¥ go a9 °

(d) 39 "2 | ST (a) AR (b) <A

4. With reference to the Indian Medical Commission,
consider the following statements:
1. Ithasbeen formed under the National Medical
Commission Act, 2016.
2. Its main objective is to improve access to
quality and affordable medical education.
3. Its main function is also to instruct AIIMS to
maintain a medical register for India.
How many of the above statements are correct?
(a) only one (b) only two
(c) all three

5. Consider the following statements regarding

(d) none

incremental cash reserve ratio:

1. TItacts as a mechanism for the RBI to regulate
liquidity in the economy and act as a buffer
during periods of financial stress.

2. At present, banks are required to keep 3.5
percent of their net demand and time liabilities
with the RBI as CRR.

Which of the above statement(s) is/are correct?
(a) 1only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2

6. Consider the following statements with reference
to the report related to the functioning of major
ports:

1. This report has been presented by the Ministry
of Tourism.

2. According to this report the average capacity
utilization of major ports is 49%.

3. Indian ports, especially on the west coast, lack
deep draft.

Which of the above statement(s) is/are correct?

(a) 1and?2 only

(b) 2only

(¢) Only2and3

(d) 1,2and3

7. Setu Bharatam scheme is related to-

(a) Unmanned level crossing

(b) From road survey guidelines

(c) Making all highways free from railway
crossings

(d) In this context both (a) and (b) above
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8.

10.

e feelientor W (PSF) & §ey H, ffafed

FAl W =R Fifee:

1. 9% 99 2014-15 ® gfHa1 wuifed wmda |
srefyer stfeerar &1 feafq & gmum & fod
T T TH HS B

2. T8 ASFl Tod HTRN/RENNEd Yo SN
FEE TG H AR HENA TS qen
3= Tl wi fauifa w0 % @ =
o B0 USH Hl 2

ST For H§ 4 HHA-TUA TE /2

(a) ®ad 1

(b) ®ad 2

(c) 1 @R 2 T

(d) T 1 3R 2

. GTET 9ERY H gfg ¥ Iaes |t i fawmien

9 Hefya fefafed sl w foem Fifse:

1. THhipd TH-Alfaiesd Jumel &1 fam™ e
difeh Wl | IUAIH qoh I h &I
TIAIGROT &1 T

2. fSen qen w7 snenfa @ A @ fmio
FHET qeh e & foawor gite=a fean
T TS|

3. USSR Ul TolaRiHe AMTRIuEe SRR H

RHfvem & 3Tm o & @l

ST For H § HHA-TUA TE B2

(a) Weel 1 3R 2

(b) Had 2

(c) Weel 2 3R 3

d 1,2 3R 3

wEafa & A ® gsd o, frefafe wemt

T foar Fifsa:

1. 39 A I Y[ESI Afgell W@ a1 o™
TAEF % g H T

2. W AN & A Afeansti 1 wifeT, Taset
Tod g AR SH S Heer qel T St
S e W wivifer feen s

ST wedl § 9 HA-T/A T 2R

(a) ®ad 1

(b) Haa 2

(c) 1 3R 2 g

() Td1 A2

8.

10.

With reference to Price Stabilization Fund (PSF),
consider the following statements:

1. This fund was established to address the
situation of extreme volatility in selected
commodity prices in the year 2014-15.

2. The scheme provides interest free loans to
State Governments/Union Territories and
Central Agencies to finance their working
capital and other expenses.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

Consider the following statements related to the
recommendations of the Dalwai Committee for
increasing food grain storage:

1. To develop integrated agri-logistics system
for efficient transfer of value from farms to
consumers.

2. Formulation of district and state based
collection plan so as to ensure efficient
regional distribution.

3. Reducing the use of warehouse and electronic
negotiable warehouse receipts.

Which of the above statement(s) is/are correct?
(a) 1and?2 only

(b) 2 only

(c) Only2and3

(d) 1,2and3

With reference to Lakhpati Didi Scheme, consider
the following statements:

1. This scheme was started by the Ministry of
Women and Child Development.

2. Under this scheme, women will be trained in
skills like plumbing, LED bulb making and
operation and repair of drones etc.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2
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I1.

12.

13.

SHG % feferst uftsmn & deed o, frefefea

HYT R fa=r wifsa:

1. a8 1992 ® Y& # T SHG % fdas
a3 B w9 ARk
RS 21

2. omfYieh waemT 2022-23 % STIER, UHOT
TEle &M 9d AFRR & aW 2020-21 H
27.7% & T B

ST oAl § 9 HA-T/E T 22

(a) Had 1

(b) oA 2

(c) 1 @R 2 g

(d Tl RAE2

IRA-SMMEa o =I9R G9gitd § Hafera

frAfafea wol | faar wifa:

1. TEIH-9NG Aol 49N 9Eid (AITIGA)
R T8 2009 H FENER TR MU S ol TH
SHEd 2010 # @0 feRa T e

2. SfgIM SAUR WHEK W WRA ST 25%
RE wrEAl W R A TeH FH W GEHd
g3 2

3. ofifeEM & oTdhel & IR, a¥ 2022 H
AEFH IR 9Rd & o= guef =mr
23.4% &t gfg & W 113 fafemm efer
Tk TEH T

Srfe H ¥ fhaa we wet 27

(a) oA TH

(b) Had I

(c) |+t =

(d) = o 7=l

e & o & §ed ¥, frfafea wemi

R foEr Hifsa:

1. THS! TOA 1977 § Sehie o 1 T off)

2. THHI A TEH I & SUSH AH &
A & AHR W TR et Tt 2l

3. U8 U [M & A" dhaa s wEam
1 Tl 3@l R

ST el § 9 wA-E/A " T 82

I1.

12.

13.

With reference to SHG Bank Linkage Project,
consider the following statements:

1. The SHG Bank Linkage Project, launched
in 1992, is the world's largest microfinance
project.

2. According to the Economic Survey 2022-23,
the rural female labor force participation rate
has increased to 27.7% in the year 2020-21.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements regarding India-
ASEAN Free Trade Agreement:

1. The ASEAN-India Goods Trade Agreement
(AITIGA) was signed in 2009 and came into
force in January 2010.

2. Indiahas agreed to eliminate tariffs on 25% of
its tariff lines in the ASEAN trade agreement.

3. According to ASEAN data, the bilateral
relations between ASEAN and India has
increased by 23.4% to reach $113 billion in
the year 2022.

How many of the above statements are correct?
(a) only one

(b) only two

(c) all three

(d) none

With reference to the ASEAN regional grouping,
consider the following statements:

1. It was established in 1977 in Bangkok.

2. Its presidency keeps shifting on the basis of
the alphabetical order of the English names
of the member countries.

3. Itpromotes only economic cooperation among
the member countries.

Which of the above statement(s) is/are not correct?

(a) Fae 1 3R 2 (a) 1and 2 only
(b) e 2 (b) 2 only
(c) Faa 1 3R 3 (¢) 1and 3 only
d 1,2 3R 3 (d) 1,2and3
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14.

15.

16.

17.

frefafaa & o g o foeg = Saomie o®

I TATTT BT T Lfi?

(a) a9 2006

(b) ad 2010

(c) ¥¥ 2012

(d) =9 2014

I W AW % Eed #, frAfafed s W

fo=m =ifs:

1. 7% 9rf ST e iR W9 & die
IReed & ford we e ffgn ant 2

2. 5600 feret o1 @8 AR Seg 3R HW T
% o= ® @ F gE B T q gehre
W2 § gAra e 2

ST FoA H§ 9 HHA-UA TE B2

(a) Faa 1

(b) oA 2

(c) 1 3R 2 <+

(d) a1 3R 2

WY T & g |, frefafed womi W fa=r

EAISPE

1. 7% 1869 §, ufv=m wfern ¥ W9 #iR sl
ST T ARSI AR & ford s Ant
@ Rl

2. 99 ITA-HIE SASHEHLT & ITE-UE Iy
2005 & @K ¥ el W IR SRS ®
el o gfg g

3. 39 &F H o 9FR | gt fasifea gr i
T AR aed gan ¥ off @au @ 2l

STE FUAl § 9 ®E-9 TE 22

(a) wae 1 3R 2

(b) e 2 3N 3

(c) &t 1 3R 3

@ 1,2 3m3

ARA-WeNd g9 ¥edm |9 (FIPIC) & Hed H,

frfafea wol | faar wifa:

1. 3 & H 3oeh e Rrer gme #1 s H
gar, fwst o fopan wm

2. =9 fTer T ed ¥ Rd GHEEeT i ageT
= firft & galtes e QrEar-die w Ul
AE T ST A% @rle. § Feifa fohan
T R

3. 9Rd 4 39 gWed ® RS @ us
qR-wfEfad wifeamrst sreqae wenfud

14.

15.

16.

17.

In which of the following years was the BRICS
New Development Bank established?

(a) year 2006

(b) year 2010

(c) year2012

(d) year2014

With reference to the Northern Sea Route, consider
the following statements:

1. This route is the shortest shipping route to
transport goods between North America and
Europe.

2. This 5600 km long route starts from the border
between the Barents and Kara Seas and ends
in the Yucatan Strait.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the Suez Canal, consider the
following statements:

1. Since 1869, it has been a common route for
international trade from West Asia to Europe
and North America.

2. Pirate attacks on ships around the Bab el-
Mandeb Strait have increased since 2005.

3. The area is also at risk from naval mines laid
by Houthi rebels in the Red Sea.

Which of the above statements are correct?

(a) 1and?2 only

(b) 2 and 3 only

(¢) 1and3 only

(d 1,2and3

Consider the following statements with reference
to the Forum on India-Pacific Islands Cooperation
(FIPIC):

1. Recently its third summit was organized in
Suva, Fiji.

2. In this summit, the Indian Prime Minister
has been honored with Papua New Guinea's
highest civilian award — Grand Companion
of the Order of Logohu.

3. India has announced in this conference to set

up a super-specialty cardiology hospital in

T I OO T R Fiji.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
Tt @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) Taeeit-110009 T et TS, IR THLRT TR, ST unt, T

Phone: 8448485518, 011-47532596, 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



18.

19.

20.

S § 9 fohad e e €72

(a) HaA ThH (b) FaaA I

(c) |ft (d) g o 7T

T B W 9Rd SR g Sfuf SR Heitie

e fram o wenes feen w39 dew o

frafafed wol W foem #ifs3:

1. Henfud foml o STgER <arel & waror i
wferar H qge | T & WM R Swfeus
TRl e 3ET-2AriAiee, SAH-A-fay
anfe =1 vEn far S =nfedl

2. TE e, W R & fad Ty ek
e YT dlehl 1 ST w4 & fod
HAfeepd Tl B

IfE w9 9 SE-FUA w1 287

(a) Had 1

(b) Had 2

(c) 1 @R 2 T

(d Tl RAE2

2 3% W & ey ¥, fr=fafed womi w

o wifsa:

. 389 o R sfifre = W
st drEfifeRal wfefea it €

2. I8 GEHd: TRt e o @ gafia g
H WIS FH B

3. < 3 W W i difgeh T B
FE § Hed e e 2l

S H ¥ fha we wet 87

(a) #ad TH

(b) ®aA A

(c) |+t =

(d) =g ot T

TRt guiied Aehe & G o, Freafafea wemt

R fa=r wifsa:

1. 3@ & § A A Alhele "I UHh
TR JOTEA Aehe ol & fashrd & fo
599 fuferM efer #1 Hi<we fan T

2. 39 DRACO 35 H TH Afaa fugx
wfaer g S BN Hi1-420 W 4400 feuit
dfeqag 9 ™ M

IwdE w9 9 SE-FUA TE 22

(a) Had 1

(b) HaA 2

(c) 1 3R 2 T

(d a1 A2

18.

19.

20.

How many of the above statements are correct?
(a) only one (b) only two

(c) all three (d) none

Recently the Drug and Clinical Trials Rules were
amended by the Government of India, consider the
following statements in this regard:

1. According to the amended rules, in the process
of testing drugs, instead of testing on animals,
alternative techniques like 3D-organoids,
organ on chip etc. should be used.

2. This amendment authorizes the use of non-
animal and human relevant methods to

conduct testing.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to deep tech startups, consider the
following statements:
1. It includes technologies based on scientific
and engineering advances.
2. It generally searches for solutions related to
some new field.
3. Deep tech startups are not able to acquire their
own intellectual property.

How many of the above statements are correct?
(a) only one

(b) only two

(c) all three

(d) none

With reference to nuclear propulsion rockets,
consider the following statements:

1. Recently NASA awarded a $599 million
contract to Lockheed Martin for the
development of a nuclear propulsion rocket
system.

2. Itwill include a nuclear reactor in the DRACO
engine which will heat hydrogen from -420
to 4400 degrees Celsius.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2
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21.

22.

23.

Qe § ST G debter @ Hed o, fefafed

oAl W fo=R Fifsa:

1. TH i 1 TN & di€l | STt
STEHM, IREds U Tl | guR Te 9ieda
PRSI EECT

2. T9 qFAIS H Tehdist g ANTAT & TH
AN, |YUl S A ARCAC Gl &l S A
R S Hehdl B

3. TMuehdl 3@ doR & AWeEw ¥ R SiF
T ST ¥ SAART i 1 YA T8 wa
T 2l

ST Forl H 4 HHA-TUA WE T 82

(a) Had 1 (b) aa 2 3R 3

(c) Wee 1 3R 3 (d 1,2 33

frefafiad § 9 -9 T CRISPR-Cas9 & o)

¥ udt T 22

(a) IT ST & HB AW hl ST STIHA |

foehTeM, Siig o1 sger | e a2

Cas9 T e © qen 3Tuiferk s w1 4ifa

% w2

(c) TH TR I TAM BfgAT hl FEHL g

o fran s 2

Y I=9 hloied dfed fafv= safires

T & gl Hea 2

S| =won ¥ gefia frAfafea wo w faEr

EAIERE

1. ¥, sicdfeen § mEifad Rer aweq o
ACTO ¥HE % 3T 3 AR & &I &
fer e s )

2. TTClieh GSH 7 A duiad whi W &
@ T Hge @ W e § fawa ®

ST weAl § 9 wA-T/A TE 2R

(a) Faa 1

(b) ®ad 2

(©) 1 @R 2 <

() a1 A2

(b)

(d)

24. IS guied 9 Fefud fefafad s © fa=am

Hiferd:

1. 3T aufaq gedt i Hag &1 6.8% e
FoR FW B

2. I8 UH 919 & &9 fava &1 10% F=gsia
gt 1 e e 2

3. FEl AT w9 ¥ A W a9 F 300 9. H
aferes Al Bt 7

21.

22.

23.

24.

Consider the following statements with reference
to genome editing technology in plants:

1. By using this technology, genetic research,
transformation and improvement and change
in properties of plants can be done.

2. In this technique, researchers can add or
subtract a part of RNA, entire gene or RNA
segments.

3. Researchers cannot introduce separate genetic

material into any gene through this technique.

Which of the above statement(s) is/are not correct?
(b) 2 and 3 only
(d) 1,2and 3

(a) 1only

(¢) 1and3 only

Which one of the following is not true about

CRISPR-Cas9?

(a) Itenables parts of the genome to be removed,
added to, or replaced by DNA sequences.

(b) Cas9 is a protein and acts like molecular

SCissors.

(c) This technique is used to cut and join bones.

(d) Ttis possible to cure various genetic diseases

including high cholesterol.

Consider the following statements regarding the
Belem Declaration:

1. ACTO group of countries made plans for the
conservation of jaguars at the summit held in
Belém, Colombia.

2. However, member countries failed to reach a

joint goal to protect the Amazon rainforest.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements regarding the
Amazon Rainforest:
1. The Amazon rainforest covers 6.8% of the
Earth's surface.
2. Asabiome, it is home to 10% of the world's
wildlife species.
3. It receives more than 300 cm. of rainfall

seasonally or throughout the year.
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25.

26.

27.

28.

St # 9 o wmed wet ®72

(a) HaA ThH (b) FaaA I

(c) |t = (d) ®E o T
frfafgd & @ SHE-91 <9 e TEan iy
T3 (ACTO) 1 U 391 &l 8?2

(a) & (b) T
OREISIER! (d) faett

ard § S w e & wedd § frefufed

FAl W fo=m Fifee:

1. a4 1947 ¥ 9Rd W&R & G dial i
AIfereRTieh AR R fereqe st fean e en)

2. 1935 9 1950 % &= 9Rd ¥ ui st AET H
w27 IR =il % Wehfae Sard
oW % UEE W eAfq we o, St S faefa
F1 IS Y@ HROT 1|

ST woAl § 9 HA-T/A T 22

(a) ®ad 1

(b) Haa 2

(c) 1 @R 2 g

(d) a1 A2

qRa  orei ot feafa & ged o, frefafaa wemt

T fa=m Hifsd:

1. 9Rd ® arei &1 & 99 2018 H 2967 9
TRt T 2022 W 3682 @ TE R

2. 9Rd W oo i SAerdl dfyess e Wi
AT 60% T

3. YR | 9T 1 ged oifyeh g See
T 2

ST wedl § 9 HA-T/A T 2R

(a) ®ad 1

(b) e 2 3N 3

(c) ot 1 3R 3

(@ 1,2 33

TSI ST TR0 MR & Hed H, Frefafaa

FAl W fo=m Fifee:

1. 9§ YRV, 99 T Soary qRadd Jaerd
% qed T ST TR 2l

2. THEHT TAGAT ¥ 2006 H TS (HIEIOT)
sfufem, 1972 & wEaHl o GeieE &
HI TEI

25.

26.

27.

28.

How many of the above statements are correct?
(a) only one (b) only two

(c) all three (d) none

Which of the following countries is not a member
of the Amazon Cooperation Treaty Organization
(ACTO)?

(a) Peru (b) Guyana

(c) Colombia (d) Chile

With reference to the extinction of leopards in
India, consider the following statements:

1. Cheetah was officially declared extinct by the
Government of India in the year 1947.

2. Between 1935 and 1950, the amount of
rainfall in India decreased, as a result of
which the grasslands, the natural habitat of
the cheetah, decreased significantly, which
was the main reason for their extinction.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the status of tigers in India,
consider the following statements:

1. The number of tigers in India has increased
from 2967 in the year 2018 to 3682 in the year
2022.

2. The tiger population in India is about 60% of
the global population.

3. Chhattisgarh has the highest number of tigers
in India.

Which of the above statement(s) is/are correct?
(a) 1only
(b) 2and3 only
(¢) 1and 3 only
(d) 1,2and3
Consider the following statements with reference
to National Tiger Conservation Authority:
1. It is a statutory body under the Ministry of
environment, forest and climate change.
2. It was established in the year 2006 by
amending the provisions of the Wildlife
(Protection) Act, 1972.

B“EI'Q.H?I Fol § 9 wE-|/A wEl e Which of the above statement(s) is/are correct?
(a) Fad 1 (b) wa 2 (a) 1 only (b) 2 only
(c) 1 32 T (d @1 ARAE2 (c) Both1and?2 (d) Neither 1 nor 2
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29.

30.

31.

32.

33.

e 9iEdd | T A (NAPCC) &

TR ¥ frAfafed wol | faer #ifa:

1. 38 a9 2014 ® GuEEH 1 Jaarg 9iedd
qiiug grI wi=a foham T o

2. THH ITWF o gfaffe, TR &t fafi=
TSfEE, ST, SEn SR wHEE % =

T 9iEdd ¥ o9 Tk adl 399 e
% aR | SEehdl Y8 ST 2
ST oAl § 9 HA-T/E T 22
(a) ®ad 1 (b) ®ad 2
(c) 1 3R 2 et (d) Fd 1 SRAE2
foe ufate @ frefated § 9 g A g
o w2 en?
(a) 1972 (b) 1978
(c) 1992 (d) 2004

MR FoHE Yuiied & Ged o, Frefafaa wem

T fo=mr wifsa?

1. 9% Rueex @ o1 1 94 59 SR YUissh
o ToFaRd w4 Bl

2. I% FH HYg FATEH W UG AR
SO 399 @I HagEdr U9 qmed fuifa
L B

SfE w9 9 wE-FUA T 82

(a) Faa 1

(b) A 2

(©) 1 @R 2 <

(d a1 A2

T WEfiert & el & Hed o, frfefad wemt

R fa=r wifsa:

1. I8 "etA afn, g gHeRtn, st 9q
rEififeral & Weaed § @eEs 2

2. FE Sa fomm, e, @A aw enfe o
R RS

ST Fo 4 HHA-TUA TE B2

(a) HaA 1

(b) HaA 2

(c) 1 ¥R 2 3

(d T 1 ATE 2

< weeu & ford Ifan eTRIRT Hied | wafud

frafafed wol W foem #ifs3:

1. <o ot ® Al #I e & fod
T-SEE YauA 1% Tk HET WHITT
T 3TN fmar TR em

29.

30.

31.

32.

33.

Consider the following statements regarding

National Action Plan on Climate Change (NAPCC):

1. It was launched by the Prime Minister's
Climate Change Council in the year 2014.

2. Its objective is to create awareness among
public representatives, various agencies of
the government, scientists, industry and
communities about the threat posed by climate
change and how to deal with it.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and?2
Project Elephant was started in which of the
following years?
(a) 1972
(c) 1992

(b) 1978
(d) 2004
With reference to nuclear thermal propulsion,
consider the following statements?
1. Tt transfers heat from the reactor directly to
liquid hydrogen.
2. It determines the feasibility and affordability
of a nuclear thermal engine based on low

enriched uranium.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

With reference to the benefits of deep technology,
consider the following statements:

1. It is helpful in promoting various innovative
technologies like machine learning, language
processing, block chain technology, quantum
computing.

2. [Itis helpful in biology, energy, chemistry etc.
Which of the above statement(s) is/are correct?
(a) 1only
(b) 2 only
(c) Both1and?2
(d) Neither 1 nor 2

Consider the following statements regarding the
South African model for cheetah conservation:
1. A conservation strategy called meta-
population management was used to protect
cheetahs in South Africa.
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34.

35.

36.

37.

2. 39 WA H =fdl & T B 95 ¥ TN
IS WY H TWIANG HET WEA ol
3. Ie gfteshivn gferor stwieht | <idl i oo

STETET i FFN W@ | 9% T
Swde § 9 fohad e wEl €2
(a) HIA TH (b) HaaA I
(c) |t @ (d) & o 7T
frfafea wol ® faer wifa:
1. THET 1 2. THEIS 2
3. TEENH 3 4. THEH 5

SEE § 9 fhad THSsh @sa @@ Td um

e ¥ geiferd g fawm e €7

(a) HaA TH (b) HaA T

(c) Had o= (d) |+t =R

frefafea wul ® faar wifa:

. 9RdE S aiEs @R eAF sfea 3 od
2021 ®, 36 9RAE TR | ¥ & ENE
80% HiEeSl i THTHES =aqr Bl

2. 9RA ¥ 06-59 AIE H g o & IS IH
o 9 9 o GA i wH R R )

ST oAl § 9 HA-T/A T 22

(a) ®aA 1

(b) Had 2

(c) 1 &R 2 g

(d Fd 1 ARTE2

T IRER Eree gaer-5 (NFHS-5) &t R

9 Hafya fefafed sl w foem Fifse:

1. w2 38.4% @ 9gHL 39.1% B T B

2. AT 21.0% ¥ SEHT 19.3% B T B

3. HH IS5 H FHEH 35.8% T TEH 36.5%
g T R

ST el § W wA-A/H T 22

(a)Eﬁaﬁlaﬁ'{Z

(b) HaA 2

(c) &aa 3

(d 1,2 33

e sl & Heyd o, fefafed wel w fa=ur

EAISPE

1. HgF T HEE F a9 2024 H TR
ek 3 oY % &9 § wifvd R 2

2. € o fowa % 70 <M H S S0

34.

35.

36.

37.

2. This strategy involved moving cheetahs from
one small group to another larger group.

3. This approach was successful in maintaining
viable cheetah populations in South Africa.

How many of the above statements are correct?
(a) only one (b) only two
(c) all three
Consider the following statements:
1. SDG1 2. SDG2

3. SDG3 4. SDG 5

(d) none

How many of the above SDG goals are Sustainable
Development Goals related to food and nutrition
security?

(b) only two

(d) all four

Consider the following statements:

(a) only one
(c) only three

1. Confederation of Indian Industry and Danone
India, in the year 2021, during the survey
in eight Indian cities, said that 80% of the
women were anemic.

2. InlIndia, seven out of every ten children in the
age group of 6-59 months suffer from anemia.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements regarding the
report of National Family Health Survey-5
(NFHS-5):
1. Stunting has increased from 38.4% t0 39.1%.
2. Wasting has reduced from 21.0% to 19.3%.
3. The prevalence of underweight has increased
from 35.8% to 36.5%.

Which of the above statement(s) is/are correct?
(a) 1and?2 only

(b) 2 only

(¢) 3only

(d) 1,2and3

With reference to millets, consider the following
statements:

1. The United Nations General Assembly has
declared the year 2024 as the International
Year of Nutritious Cereals.

2. Itis grown in almost 70 countries of the world

3R TR 9 STRIHT § T 30 H g anm and is the traditional food of about 30 crore
H TRYRE TS 2 people in Asia and Africa.
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38.

39.

40.

41.

3. 9RA URTN § Iewfed Wi STSH w1 S
80% ST a2

ST FoA H§ 9 HHA-TUA TE B2

(a) ee 1 3R 2 (b) et 2 3R 3

(c) Hae 3 (d 1,2 33

qRd H Wgd A & Auhdl & °gd H,

frafafed wol W foem #ifsa:

|. WRAH 15-49 o &1 31 o ki 24% Afgard
sferk asH A "o 9 W B

2. NFHS-4 % 3T{9R S0 3R HediR & wifaai
oot & nefadt afeenet  dierd st =rash
72% % WY I H Ioaaw off|

3. 9Rd ¥ vEd Mefedt Afgenet &t gor o
ey nefadt Afgenstt ® W™ 1 Srashd
At 2

STE A ¥ fhad wed wdt 72
(a) HaA TH (b) HaA
(c) =t (d) g o 7T

SIS T 3Td Feleda & e el ¥ frefafed

H 9 wA-w T ot 22

(a) TUR e & Ul qe TAR THA TR

T TR

T 1 3=1d 9 & T fomm o gt

1 FEEl

(c) 7T 9RA H1 Yfaagarstl &l WHR HH Hi

faon ¥ sto |

e el oiR Sevail & ufd TR Hehedl

F1 gfiel

aRa § WSl wifd & ged H, frAfafeaad e

T foar Sifsa:

1. 2019 ® TR, ToRA | TH fram a1 o
T & GRS wifd % ford @ UHm
R IEE IARA & ford emgm fopan wem

2. 9RA WHR % G UEEgU IEE 9 T
UeE SR B T AeUae! Ure 3R
e faeH &1 9Re foRan w2l

ST wedl § 9 HA-A/A TE 2R

(a) Had 1

(b) Had 2

(c) 1 3R 2 T

() Fa1 AT 2

(b)

(d)

frafafaa wul | four i

1. s fom o o 1931 # oRfer St &t
freq oo T ¥ ek fheHl w1 JURY
g3l

38.

39.

40.

41.

3. Indiaproduces about 80% of the coarse grains
produced in Asia.

Which of the above statement(s) is/are correct?
(a) 1and?2only (b) 2 and 3 only

(c) 3only (d) 1,2and 3

With reference to the prevalence of maternal
obesity in India, consider the following statements:

1. 24% of women in the age group of 15-49 years
in India are overweight or obese.

2. According to NFHS-4, the prevalence of
obesity among pregnant women in Shopian
district of Jammu and Kashmir was the
highest in the country at 72%.

3. The prevalence of obesity is higher among
rural pregnant women than urban pregnant
women in India.

How many of the above statements are correct?
(a) only one (b) only two

(c) all three

Which of the following is not included in the five

pillars of Azadi Ka Amrit Mahotsav?

(a) Remembering the milestones of our history

(d) none

and our unsung heroes.
(b) Promotion of science and technology to
advance the nation.
(¢) Tireless efforts towards realizing the
commitments of New India.
(d) Reaffirmation of our resolutions towards
definite goals and objectives.
With reference to the Sweet Revolution in India,
consider the following statements:

1. In 2019, at a farmers meeting in Amreli,
Gujarat, the Prime Minister called for honey
production on a large scale for a sweet
revolution.

2. National Beekeeping and Honey Mission has
been started by the Government of India for
quality honey and other bee products.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements:

1. Savak films started in Indian cinema in the
year 1931 with Ardeshir Irani's film Alam Ara.
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42.

43.

44.

2. < 3T g TR ‘oxdt & o’ (1946)
FH fhercdd o T U< H arelt ggel
ARG fhew offl

3. T uferthe fegwad (2002) TBen WRAE gafad
2, f9E 959 rehmeelt TR TARTE § wags
@Y fhen & T sTohIeHt qWahR STl

Iwde oAl § W SE-a/d T 8R?

(a) eed 1 3R 2 (b) Fad 2

(c) el 1 3R 3 (d 1,2 33

o€ T 2-2030 1 oiF B-

(a) Gt & fer@ amor wifed frmfor

(b) Heaedd TGN 3R SR § W & wed
I gfeed wE

(c) HAmU o fava & fod fova gaq diwm
fem o1 foparamm|

(d) YT STER T YN & TH i & ST

e Hergd | el | U a1 ghg @ wee

¥ frafafed weml w foem Fifse:

1. 3OH wA H1 Uuehd dgH & ford T foaam
e Wik oToATE Wt € erefq fugt o
& O q wEH R S

2. URY WS, IESieR sifen iR whHitHeR
TAGERRTE R S Hagd w1 Tq@
fafermt 21

IwfE w9 9 SE-FUA HE 82
(a) ®ad 1 (b) waA 2
(c) 1 3R 2 T (d) Td 1 AT 2

TA & H IR THR 7 G HROT & TSR

3R =R fafmior i wearfed e & ford wiuefy,

T R H/D YER & FE W AEE sy

o o 21 e Hefua Frefafad seael W fomr

Hifs:

1. THH 32T had HAEl R AH 9 B el
agfd w1 it s R

2. WTO &% gol Hraifie! 99gid & ded
- AT h1 Ffaagedl & RO TR
T eh WM 1 S w o arEmed o)
3d: A™G Yfdsy o =4

ST wedl § 9 HA-A/A TE 2R

(a) HIA 1

(b) HaA 2

(c) 1 ¥R 2 g

() Fa1 AT 2

42.
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44,

2. ‘Dharti Ke Lal’ (1946) directed by Chetan
Anand was the first Indian film to receive
honors at the Cannes Film Festival.

3. The Elephant Whispers (2002) is the first
Indian documentary to win the Academy
Award for Best Short Film at the 95th
Academy Awards ceremony.

Which of the above statement(s) is/are correct?
(a) 1and?2only (b) 2 only

(¢) 1and3 only (d) 1,2and 3

The theme of World Food Day-2030 is-

(a)
(b)

Building nutritional power for all

To ensure the goal of nutrition through
sustainable consumption and production.

(¢) Implementation of the World Sustainable
Nutrition Mission for a malnutrition-free
world.

(d)

Security of nutritious food should be given to
everyone.

With reference to the increase in nutrients in crops
through biofortification, consider the following
statements:

1. In this, agronomy based process is adopted
to increase the nutrition of the crop, that is,
nutrients are provided in the soil itself.

2. Plant breeding, transgenic breeding and
agronomic biofortification etc. are the main
methods of biofortification.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
Recently, the Government of India has imposed
an import ban on laptops, tablets and some types
of computers in view of security reasons and to
encourage domestic manufacturing. Consider the
following statements related to this:

1. Itis aimed only at supplies from Canada and
China Have to limit.

2. Due to zero-duty import commitment under
WTO's Information Technology Agreement,
the government was unable to inspect
electronic goods, hence the import ban was
imposed.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2
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45.

46.

47.

feoelt U= TS USESE wMEA  (WIYH)

stfufem, 2023 9 defua fefafed oA

foar =wifs:

1. 39 GYMEA & HIeAY § Harell ¥ Heatid |9
AWl W ool % SIS i ST Hid
+ fo adg uouar fafae der wifvestor
1 LA HT T 2

2. TEH DANICS & ¥4 T & IAfawiRal &
aAferEsT 1 W o e 2

3. wfye # feeet & gems, fooet &
ST 3R feelt & wuE E wfed
e

ITE § @ fohae wer wEl ©2

(a) shedd TH

(b) Fad I

(c) 9+t =

(d) ®E of T

frfafea wol | faar wifa:

1. YRAE efums Afufag &t am-5(2)

2. HER Hansd 1 sTeems e M, 2017

3. 3 ufehan dfgar =l &-144

SE | ¥ fRdd FUd 9Rd ° sThie weeRd

1 Ul w1 fafee e €2

(a) e Th

(b) Fad I

(c) |t 94

(d) = o T

AR JaEA e (Hened) aifafeem, 2023 &

Hed o, fr=fafaa ol W faar wifs3:

1. 38 fufem § SR g0 9RdE gaEm
ol & Ryl w1 i @R 3% gen
Td ¥ & w H @ R Aoyl SR
fen T 21

2. sAfufem # @i & tema & fgfea &t
vfE for iR 39% T W U g
Tfra =afad o1 S w1 Ay fga w
1 grEauE R T R

STE oAl ¥ 9 HA-T/E T B2

(a) HaA 1

(b) HadA 2

(¢) 1 3R 2 A

(d T 1 ARTE 2
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Consider the following statements regarding the
Delhi National Capital Territory Administration
(Amendment) Act, 2023:

1. Through this amendment, the National Capital
Civil Services Authority has been established
to make recommendations to the Lieutenant
Governor of Delhi on certain matters related
to services.

2. This also includes approval for prosecution
of Group A officers of DANICS.

3. The authority includes the Chief Minister
of Delhi, Lieutenant Governor of Delhi and

Principal Home Secretary of Delhi.

How many of the above statements are correct?
(a) only one

(b) only two

(c) all three

(d) none

Consider the following statements:
1. Section-5(2) of the Indian Telegraph Act
2. Temporary Suspension of Telecom Services
Rules, 2017
3. Section 144 of the Code of Criminal Procedure

How many of the above statements regulate the
process of Internet shutdown in India?

(a) only one

(b) only two

(c) all three

(d) none

With reference to the Indian Institute of
Management (Amendment) Act, 2023, consider
the following statements:

1. In this Act, the government has given itself
significant powers to appoint and remove
directors of Indian Institutes of Management
and to initiate investigations.

2. There is a provision in the Act to take away
the power to appoint the Chairman of the
Board and in his place appoint a person
nominated by the President as the Chairman
of the Board.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(¢) Both 1 and?2

(d) Neither 1 nor 2
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A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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48.

49.

50.

B & o Ui fafea s g fafsaasnl &
ford U o feen-fader s fova o €, sod
Hefvq fr=fafed wel w foar wifs3:

|. fafrcosl gm 9w Hifewn W et T
SHER It fovmgar 9 & wafud g
=fed 2l

2. Tafercesl # Yo wd T stell W <amd
fa@ =1 el T R

3. Af W =1 39 IRaR & 93 fafecas &
Y SqHESHS, AT @ f9dh R
FW T d ot fafrcas sT=R 9 e T8l
HT ekl

ST oAl ¥ 9 HA-T/A T 22

(a) ad 1 3R 2

(b) Had 2

(c) ae 2 3R 3

(@ 1,2 33

AfeT gomelt ® deetar & Hed § frefafad weEl

T foar Sifsa:

1. ofFT gomell ® dqierar 9 areed Sl Wi
SeTehIfereh e as T fadia sTeal i
T HE & ford S @ Suers T 9 2

2. RBI WReral 99mEsH gfaen (LAF) & Hread
Y SRt gomelt § aXetar 1l S 2

ST wUAl § W BE-E/A wE e

(a) & 1

(b) HaA 2

(c) 1 3R 2 T

(d @1 SRTE2

Toee stafen ° gefud freafafed se w faer

Hiferr:

1. IE TAEd T ¥ g 99, ey gat
aMaerel SR =E 9y Yo w1 atfued die
gty H1 3R GHAT H A B

2. TRERR W AMHT & HROT ST arsd i a&!

48.

49.

50.

Recently, new comprehensive guidelines for
doctors have been issued by the National Medical
Commission, consider the following statements
related to this:

1. The information posted by doctors on social
media is related to their expertise only.

2. Doctors have been asked to write medicines
in readable and clear letters.

3. Even if the patient or his family members
behave abusively, uncontrollably and violently
towards the doctor, the doctor cannot refuse
treatment.

Which of the above statement(s) is/are correct?
(a) 1and?2only

(b) 2only

(¢) 2and 3 only

(d 1,2and3

Consider the following statements with reference
to liquidity in the banking system:

1. Liquidity in the banking system means readily
available cash to meet the short-term business
and financial needs of banks.

2. RBI controls liquidity in the banking system
through the Liquidity Adjustment Facility
(LAF).

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements related to Global
Boiling:

1. Ttreflects the transition from global warming
to more intense periods of heat waves,
climate-related disasters and extreme weather
patterns.

2. The increased amount of water vapor caused

T T former amgHE a3 F oS by wr.clrming over the? oceans is ‘Furbocharging
] T the giant a;tmolspherlc .heat e}t:glille. -
3. Tolee St & wROT U weaEen | 3 Dl::u:io .gt(l)lbz ‘Zarmmg’ Eue ;f“tat '8
o W e el T A wd # wwer T :O;d e in the Andes ranges turned into severe
. ﬁ E .7 °
1 Hd For T How many of the above statements are correct?
(@) ;EF (a) only one
(b) e (b) only two
(c) et . (c) all three
(d) =& off 7 (d) none
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID T et TE, TS TGERT A, TR i, e
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S1.

52.

53.

54.

qRd H U 9 gefud wede & ded o,

frafafed wel W fomr #ifs3:

1. 9Rad ¥ faanfeq afeensti & nafewen & 12
gwdre a% T i eAEfa /)

2. U Hfgen 7 ufq &1 Genfd & fan e
EURSET I

3. gi| & 9 T € A oo uwm had d
Jafeeh SAhR i T, 37=e T8 =l o
FE & fod SR qm 2

ST For H§ § HHA-TUA TE B2

(a) eel 1 3R 2

(b) HaA 2

(c) Weel 2 3R 3

(d 1,2 33

YUATHEHHE HI9-26 H Forarg IRemd & i

AT T A o Hed ¥, frmfafad ol ™

fomm =ifsa:

1. a9 2030 T TR-S{eme™ Fid ¥ 500 TmaEre
ol I HH HT Tl faskfad

2. T4 2050 TR 50% el SAATHHAT TSR
Foll | g H

3. 9d 2070 T KA HTeA IS I I HLAT

ST el § W HA-9 wE T &2

(a) eed 1 3R 2

(b) el 2 3R 3

(c) wae 1 3R 3

(d 1,2 33

T T=E T % SEeH ¥ B w1 gt &

Hed o, fr=fafaa womil W faar wifs3:

1. Ff 9 IS IS Hl HA AR T 7.1
e & se 2|

2. IS T T 549 fewmn dem & ®u
¥, 28 WSl fewm Ageq sAfamEe % ®9
H qe1 18 WIEE CO, & ®9 ¥ @i 8l
@ 2

ST Fo A § HA-TUA TE B2

(a) & 1

(b) Had 2

(c) 1 3R 2 T

(d) @1 SRTE2

Fiee iR fagia & g3 #, fr=fafaa el w

fomm =ifs:

1. 7 fagid ad 2001 & G99 B9 & &% dIR
foram = em

51.

52.

53.

54.

With reference to the provisions related to abortion
in India, consider the following statements:

1. InIndia, married women are allowed abortion
up to 12 weeks of pregnancy.

2. A woman can have an abortion without her
husband's consent.

3. Recently, in one of its decisions, the Supreme
Court has also considered marital rape
as a ground for termination of unwanted
pregnancy.

Which of the above statement(s) is/are correct?
(a) 1and2only

(b) 2only

(¢) Only 2 and 3

(d) 1,2and3

With reference to the goals adopted towards
climate change at UNFCCC COP-26, consider the
following statements:

1. To develop the capacity to generate 500 GW
of energy from non-fossil sources by the year
2030.

2. To meet 50% energy requirement through
renewable energy by the year 2050.

3. To reduce total carbon emissions to zero by
the year 2070.

Which of the above statement are not correct?
(a) 1and2only

(b) 2 and 3 only

(¢) 1and3 only

(d 1,2and3

With reference to the role of agriculture in
emissions of greenhouse gases, consider the
following statements:

1. The total amount of emissions related to
agriculture is approximately equal to 7.1
gigatons.

2. About 54% of the emissions are being emitted
in the form of methane, 28% in the form of
nitrous oxide and 18% in the form of CO,.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the cold start theory, consider
the following statements:

1. This principle was formulated after the
Parliament attack in 2001.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID T et TE, TS TGERT A, TR nt, W
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55.

56.

2. T8 iR SR = o Geiferd @k i A
o vt fasfaa fman T 21

3. AR TS g 5 Uh 1 e § o
& IR N AW g5 el SewAl i ol
F O 39 agia #1 Tw yHE $Eed 2

ITH § @ fohae wer wEl ©2

(a) shadd TH (b) e &

(c) |l I (d) g o T

T TE Qe g9oash § Hafud frefated

FeAl W =R Fifee:

1. I8 U g uieg dfeered & siaia
T GR&T TAEHR T FEaT |

2. B WHR & g & AGA 99 T
3BV HAR 1 < Teod T Al TRaT
THeTs % &9 0 fged T T R

STH oAl ¥ 9 HA-T/A T 22

(a) HaA 1 (b) HaA 2

(c) 1 3R 2 T (d T 1 AT 2

TR @A WA (ILP) & H3d ¥, fFefafaa swemt

R foar Sifsa:

1. I8 U SAfuehiiish a0 <& 8, T gaifea
T TR g S feman S 21

2. I frdl wify@ &9 o wRdE Amienl &
sfafted o= =afaal &t & difga safy
% fordl amn & erufa 3@ 2

3. 909 ¥ 9Rd & had AR TF H ILP
Tt ] 2

ST FoAl H 4 HHA-TUA WE T 82

55.

56.

2. It has been developed keeping in view the
potential threat from Pakistan and China.

3. A major objective of this principle is for India
to complete its war-related objectives even
before the international community takes the
initiative to stop the war.

How many of the above statements are correct?

(a) only one
(c) all three
Consider the following statements regarding

(b) only two
(d) none

National Maritime Security Coordinator:

1. He will assist the National Security Advisor
under the National Security Council
Secretariat.

2. Former Navy Vice Admiral Arun Kumar has
been appointed as the country's first National
Maritime Security Coordinator by the Central
Government.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
With reference to Inner Line Permit (ILP), consider
the following statements:

1. Ttis an official travel document issued by the
respective state governments.

2. Itallows persons other than Indian citizens to
travel to a protected area for a limited period.

3. Currently the ILP system is implemented only
in Manipur state of India.

Which of the above statement(s) is/are not correct?

(a) Haa 1 (b) Faet 2 3l 3 (a) 1only (b) 2 and 3 only
© Faa 1 2R 3 %) 1,231?\'{3 (¢) 1and3 only (d) 1,2 and 3
.. 57. Consider the following statements regarding
37 o e ¥ wtm Aquadust Water Hazard Atlas:
*® tR o 1. This atlas released by The Lancet Resources
I ®T ? aﬁé S B S e 2 E%E Institute throws light on the situation of global
aﬁa%aﬁﬁ*ﬂa Efd W YRl STerdl B
water stress.
2. ¥H Ucetk @ AR e AT T 50% 2. According to this atlas, about 50% of the
S o § HH W FH CH AT TA GG world's population experiences water stress
#1 feafa 1 weg@ w2 for at least one month in a year.
3. 39 oY % SATER 4ivEd TR, ST SAHih 3. According to this atlas, West Asia, North
AR <feror wfren wed erfuesh Siel-qeE A Africa and South Asia are the areas with the
&= most water stress.
ST HoH H | HH-4 T &2 Which of the above statements are correct?
(a) ol 1 3R 2 (b) aet 2 3R 3 (a) 1and2 only (b) 2 and 3 only
(c) wad 1 3R 3 d 1,2 3R 3 (¢) 1and 3 only (d) 1,2and3
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
3 @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) fereeii-110009 & faeeh TEH, ¥ s FgaT HI, ST i, e
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58. 319 URM % FHYadd TURTE gkl & TIARX | 58. According to Earth Action's Mismanaged Waste

O R HHE-TT T I 27 Index, what position has India got?
(a) = (b) Sher (a) Third (b) Fourth
(C) v @ (d) I3 (C) ﬁfth (d) SeVenth

59. Consider the following statements related to the

59. UM R H gRfve forenm = feafq o 4@

o . L e Status of Elementary Education in Rural India
Hafya f=fafaa sol W foar s

report:

1. 77 T et e sfean o wafy food 1. This report is based on a survey conducted
TS HIYAHIG & Tdl ¥ STauHe seafoid by the Development Intelligence Unit in
e g ford T GO T ST B collaboration with Transform Rural India and

2. YT 9Nd H 9T 49.3% BE % U9 Sambodhi Research and Communications
WMEEA T qv@ 3 foFq Fad 34% B 2. About 49.3% students in rural India have
WREA gAY S ded wE e access to smartphones but only 34% students

. use smartphones for accessible study related
S tasks.
SR FoA § ¥ BE-WA T L2 Which of the above statement(s) is/are correct?
(a) HaA 1 (a) 1only
(b) HaA 2 (b) 2 only
© 1 3t 2 =F (c) Both 1 and?2
d =@ a2 (d) Neither 1 nor 2
60. Frefarf ‘{Fqﬁ T foar FR: 60. Consider the following pairs:
. (Discussed places) (State)
(==t & @ ) (=) 1. Byculla Railway Station = — Karnataka

1. SR T TR - e 2. Bhagat Bridge — Bihar

2. 9 g - faer 3. Parkachik Glacier — Himachal

3. UR&ITEH TR - femra w=w Pradesh

ISEE i o ° fohad weEl gafea 7 How many of the above pairs are correctly
(a) F9a TH TH matched?

(b) Faet 3w (a) only one pair

() T F T (b) Only two pairs

(@) FE i g (c) All three pairs

(d) None of the pairs
61. A &3 @is (faepm IR fafram) e 61. With reference to the Offshore Areas Mineral

fagges, 2023 & G W, feAfafad o W (Development and Regulation) Amendment Bill,
ICECAINE R 2023, consider the following statements:
. T4 UEell R WRd § ervdetd @it @t 1. It has introduced for the first time the
ST T T T T 5 provision of auctions of offshore minerals in
India.

2. THS® i WM St AR Rl Wi
yfoerff aelt & fom ' = w1 g fiw

2. Government companies and corporations may
have mining exemption without competitive

HH 2l bidding under it.
SudE weAl W W wE-"/A T 27 Which of the statement(s) given above is/are
(a) Feel 1 (b) Fae 2 correct?
(© 1 3R 2 <Fi () A1 R 2 (@) 1 only (b) 2 only
] ) (c) Both1and2 (d) Neither 1 nor 2
62. Feferfa diefl <t sl T foreme Hifora: 62. Consider the following plant species:
1. o| 2. et 1. Bamboo 2. Eucalyptus
3. GEE 4. ot 3. Teak 4. Subabul
refi e 641, VoW A, | 21, YWT AS, | 13/15, A9Tehe AT, ke | wite How-45 T 454 7 47/CC, Eligic)
2 @S TN, e T, ufreht <inreT, fafae -2, U9 ek Us, | 3Mehs A, faamrasw
(Magazine Test) fereet-110009 T ferelt T, IS g e, ST o, TS
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qRd H $fY et o1 agan 3 & o g &
¥ 9 qeF v § W § § S wiHd §7

Which of the above are included in the recently
released fact sheet to promote agro forestry in

(a) Feel 1,3 3R 4 India?
) 1,2, 3 ik 4 (a) 1,3 and4 only
(©) 39 2,3 - (b) 1,2,3,and 4
(d) @ 2 s 4 (((01; 2,3 an 4 i)nly
2 and 4 only
63. ' AR et e e e 9RuR’ % SR | 63. Consider the following statements about the
¥ frAfafed Fa | faer Fif: Indian Council of Forestry Research and
1. 391 3fteshion =1 aififeurfast gomferst Education’:
® GEU R AFHE YEud & Wiemm 9 1. Tt has the vision to achieve long-term
e TRferfas  feerdl, waq T ecological stability, sustainable development
3 el TR W HE 3 and economic security through conservation
2. T TE AR FTEIF O ¥ HeE and scientific management of forest
. ecosystems.
Frmtt A @ o E S ST 2. Itisone of the auxiliary bodies in the national
RUCR SR ERER FI e S & iR forestry research system that promotes and
I F € undertakes need based forestry research
Sude oAl § W eHE-a/d T 22?2 extension.
(a) Had 1 (b) waa 2 Which of the statement(s) given above is/are
(¢) 1 32 3 (d) T 1 3RAA 2 correct?
64. ‘T (TReIUT) wEweA eAfuftEm, 2023' % SR H (a) 1only ®) Zolnly
8 . (c) Both1and2 (d) Neither 1 nor 2
At # 6 B 6 B T 82 64. Which of the following statements is not correct
(2) THHT IT TE gffed e & T & about ‘the Forest (Conservation) Amendment Act,
Sterarg, ufedd § e o vRa & et o 20239
RIEE ] (a) It aims to ensure that such areas contribute
(b) = & W & fod sl few, fafsarr to India's efforts in combating climate
IR gEE H arfeet wfafafeai w5 goi @ change.
e TG T B (b) Ecotourism, zoos and safari are excluded
(c) sifufm ® U weqE wiEe w5 W 2 from the array of forestry activities for the
(d) st = T o fet § fean 3 conservation of forests.
) ) ) (c) A Preamble has been inserted in the Act.
65. Feamea’ w1 % wel o, frfafed we ® (d) The act now has its name given in Hindi.
fomm =ifsa: 65. With reference to the term ‘Silvopasture’, consider
1. 7€ TN 9 1 Thigd S S 3H 9gfF the following statements:
T R WE % Gded hi Tk Jomedt B 1. It is a system of integrating pasture lands
2. HiY Fifqen} faeaurs=R &1 T ST 2 and grazing livestock operations on the same
3. I8 F ok & 9 H wE Ha1 T SR land.
o qiﬁq YaUE YA H B § i’%groforestr};1 isa su;)set o'f tl}(le sil(;zopasu.l(rie.
. . . It acts as the carbon sink and provides
ST § F ot For W sustainable land management.
(a) ol TH (b) et How many of the above statements are correct?
(c) (d) =i & (a) Only one (b) Only two
66. F=fafad waml w fomm Fifsm: (c) All three (d) None
9T I: 98 Fto w7 B . G gfi 66. Consider the following statements:
: W S — Statement I: Heavy construction has a serious
TR : effect on the land environment of Himalayan states.
AT 11: 9 Fofor 37 Tt 6t e et Statement II: Heavy construction is changing
EERE R the river basins of these states.
641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
WS e TEs TR, A 0, wfirent =irreT, fafae 2ER-2, ¥ 2w A, | 3Mehs uid, faamrsm
(Magazine Test) fereet-110009 T ferelt T, IS g e, ST o, TS
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67.

68.

69.

IWeR HoH ® Hay H Frfated § 9 & @

T 27

(a) HEF-1 3R HeA-11 S T & 3R weF-11,

FHA-1 B WE S §

FHUF-1 IR weH-11 T4 et € IR Hem-11

FU-1 & ford ot s e @

(c) ®UA-1 G B, Afep weM-11 Terd @

(d) FeF-1 Ted €, Al woA-11 9t 7

‘gt guE’ & ged § fefafed weA w

fo=r wifsE:

1. I® 1400 fFlt ¥ &9 3 W
IWHTCaH Fehardl & &= Hi TER
foa 21

2. I8 T =eweml 1 derl I a€e Tl €,
dfer feen &t & 2

3. Tdgd ST % HRU TH YNE Hi ST
%4 8 W R

(b)

STe woAl § 9 HA-T/A T 2/e?
(a) o 1 3R 2 (b) Had 1
(c) o 3 (d 1,2 33
foreferfan gl W fomm S
fem wiganfaar YeRfeues I
e I
1. =fenfon faaR@ g9y
o wfaer fomt
2. Ttguit It
3. FE@H! Heoh W I Scdte

gl #E gR B € § wehivE ‘Eedw o
Fiefen S EifEeET’ & 3ol § swe ¥ 9
HH " e 2?

(a) & 1

(b) wae 1 3R 3

(c) el 2 3R 3

(d 1,2 33

frefefed & 9 M e ammet § e yem
HE | e e 22

(a) |t T AmweT # SR ® 3fua wmy
LERE G

WY qet # oAgaR & fod g
e 2l

(c) Stferapisr HeHi ® oM SR TaER %

ferd efustt s 2

(b)

67.

68.

69.

Which one of the following is correct in respect of

the above statements?

(a) Both Statement-I and Statement-I1I are correct
and Statement- II is the correct explanation
for Statement-1

(b) Both Statement-I and Statement- II are correct

and Statement-II is not the correct explanation

for Statement-1

(c) Statement- I is correct but Statement-II is
incorrect

(d) Statement-I is incorrect but Statement-II is

correct

With reference to the Fujiwhara effect, consider

the following statements:

1. It is the interaction between two tropical
cyclones having a central distance less than
1400 km.

2. Itcan change the intensity of both the cyclones
but direction remains the same.

3. Due to global warming, the frequency of this
effect is decreasing.

Which of the statement(s) given above is/are

correct?
(a) 1and2only (b) 1 only
(c) 3only (d) 1,2and 3
Consider the following pairs:
Gender stereotype Optional words
words

1. Adulteress women involved in
extramarital affairs
2. Housewife wife
3. Eve teasing

Which of the above pairs are correctly matched in

Street sexual Harassment

reference to the recently published ‘Handbook on

Combating Gender Stereotype’ by the Supreme

Court?

(a) 1only

(b) 1and 3 only

(¢) 2and3 only

(d) 1,2and3

Which of the following is not a hindrance in

providing education in local languages?

(a) Allthelocal languages do not have appropriate
research mechanisms in grammar.

(b) Resources for the translation in local

languages are inefficient.

(c) Most of the institutions have English as the
language for research and innovation.

(d)

Local languages have poor grammatical

(d) TT wsti o oAU eHar HESN 2 potential.
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres

3 @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) faeeit-110009 5 Tt Mg, IS THERT A, FIIT T, T
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70.

71.

72.

73.

‘drug 4t & geyd |, frafafad weAl w faer

EAISPE

1. 3 T foen Afa, 2020 & wEfteEA w7
gfafafere w3

2. A O TG § Toerargul fren weH e
o ol i

3. TH®I HEFEEE 99 2022-23 ¥ 2026-27 T €

S weAl § W wA-G/d T 22
(a) e 1 (b) g 2 3R 3
(c) o 3 @ 1,2 3R 3

aRd § SASdE §El % 9 ° fefated

FHeAl R faar Hifsa:

1. oTgfed Sefd ¥R WO Wed WRd &
dfaum o wfwfea fea mm

2. YR Hfau™ FAIgE 5 % ded e
TEl 1 " 2

3. 424 A ifuftaw g wad wew emfed
ST Tl (RES) w st 9HEl &
w9 o ofiepa femen TN 2

ST A @ HH-9 U T 22

(a) wad | (b) et 1 R 2

(c) ae 3 d 1,2 33

ST TUEl & S % fad Serw U At

% o1 ¥ Frefafed § 9 siF @ swed e 91 @2

(a) ‘vEn’ efufm sTqgfaa &= § 7\ |9 &

vifer @R fTeier & 2

TSl ¥ dREdl HEM & THA BN I

e e WE o o e

Aied sard foemem’ wnfyd fmd w2

(c) oTfEaTfaai & o oS iR g&fved i

- & fo ‘diun aey fasme A’

& H T R

Tq@ anfeardt mal # erEra fow & ford

‘dium enfy eeet um A’ IE W T 2

frafafaa wul | four i

1. AR SAfueRR GReq SAfufem, 1955 g8
ARAT ST o ST STEIRal hi U § Hafud
et o wfafafy & fod <feq 0 = o
SR T O

2. SEgEIdl @ glen |l ARl 1 wHifersk
aferapr 21

(b)

(d)

ST el W W wA-G/d e 22
(a) %o 1 (b) e 2
(c) 1 3R 2 g (d) Td 1 AT 2

70.

71.

72.

73.

With reference to the ‘PM SHRI’ consider the
following statements:
1. These will represent the implementation of
national education policy, 2020.
2. These will be the leaders in providing quality
education in their mother tongue.
3. It has its implementation year from 2022-23
to 2026-27.
Which of the statement(s) given above is/are

correct?
(a) 1only (b) 2 and 3 only
(¢) 3only (d) 1,2and 3

Consider the following statements about the
tribal groups in India:

1. Scheduled tribe words first appear in the
Constitution of India.

2. Indian constitution under schedule 5
recognised tribal groups.

3. Primitive Tribal Groups (PTGs) have been
first classified as different groups by the 42nd
amendment act.

Which of the above statements are correct?

(b) 1 and 2 only

(c) 3only (d) 1,2and 3

Which of the following statements is not correct

(a) 1only

about the initiatives, have been taken for the
upliftment of the tribal groups?

(a) ‘PESA’ act gives power and responsibility
to the Gram Sabha in the scheduled areas.
‘Eklavya Model Residential Schools’ have
been established to provide quality education
to ST students of class VI to XII.

(c) ‘PM Vanbandhu Vikas Yojna’has been started
for the e-marketing of minor forest produce
and handicraft of tribals.

‘PM Aadi Adarsh Gram Yojna’ has been
started for the infrastructural development in

(b)

(d)

major tribal villages.
Consider the following statements:

1. Protection of Civil Rights Act, 1955 was
the first Indian law which was enacted to
punish any activity related to the practice of
untouchability.

2. Protection from untouchability is a
fundamental right for all the citizens.

Which of the statement(s) given above is/are
correct?

(b) 2 only

(d) Neither 1 nor 2

(a) 1only
(c) Bothl and 2

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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74. G 1 BTA & T hi PG SHASADRT &
Ted |, frfafaa el | faar wifsa:
1. 9Rd & %o HRad § JaT HEWE 9€

W R
2. 9RG H I H Ged SR genstl i
T 2
3. IR A FEEEA FHEEd N ANEH TS
@I Rl
Srfe H ¥ fha we wet #7
(a) Had TH (b) Had q
(c) |t = (d) = o T

75. ‘wa g’ (W) & sR ¥ Frefated § 9 w6
o HeF T T ®?
(a) I8 Afd 3TRIeH & WA &g § 9
TH 9
(b) ST Hfead ‘T Ty wifea’ § i 2
(c) HierE 3Rt forem off|
(d) IhRT ' STHYY hi STAURON’ TR Higaned
% IR U gafya eff
76. FAleEk H ‘dfFq sMdeH’ & fgeE@ % AR o
fr=fafaa wol w® faar Fifs:
1. 9EE= 39 SgeH & Adl 9
2. I SEEA 143 T H YEIE H YE
g3 ol
3. 3TeFRT HETRE, STTrHT Y 3R e i
I & FATAR R 9
STE wedl § 9 A qA TE 2R?
(a) Fad 1
(b) wae 1 3R 3
(c) Weel 2 3R 3
(d) et 2
77. ‘%M gg' & 9R § Frefafed wuel W faer
EAISDR

74. With reference to the recent years workforce
demography of India, consider the following
statements:

1. India’s youth workforce is increasing in total
work force.
2. India has the largest population of youths in
the world.
3. Old age workforce contribution in India is
decreasing.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d)

75. Which of the following statement is not correct

about ‘Sant Ravidas’ (Raidas)?

(a) He was one of the mystic poets of the Bhakti

None

Movement.
(b) His poems are included in the ‘Guru Granth
Sahib’.

(c) Meerabai was his disciple.

(d) His ‘Concept of Begumpura’ was related to

the city of empowered women.
76. Consider the following statements about the
development of ‘Bhakti Movement’ in Karnataka:

1. Basavanna was the leader of this movement.

2. The movement started in the early 14th
century.

3. Akka Mahadevi, Aalamma Prabhu and
devara dasimayya were the follower
disciples of Basvanna.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 1and 3 only
(¢) 2and 3 only
(d) 2only
77. Consider the following statements about the

‘Opium Wars’:
1. g8 <9 SR ufvedt 3w & e ofw 1. It was fought between China and western
T o countries.
2. 'ﬂ,@ F gRUTHEEY 1 T ST & 2. Asaresult of these wars opium uses in China
IYART §E 7 T stopped.
. . 3. These wars initiated development,
. ¥ ol 4 M A fowm, T M nationalism and modernization in (l;hina.
! I RS 1 Which of the statement(s) given above is/are
ST wUl § W s G/ gE 2?2 correct?
(@) Fa@ 1 R 2 (b) e 2 (2) 1and 2 only (b) 2only
(c) a1 R 3 @ 1,2 AR 3 (c) 1and3 only (d 1,2and3
refi e 641, UUT TA, | 21, TEN AT, | 1315, Arercha av, Frohe | wile Fav-45 @ 454 7 | 47/CC, AfcATEA
2 @S TN, e T, ufreht <inreT, fafae -2, U9 ek Us, | 3Mehs A, faamrasw
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78. 199 ¥ & SN 9RA § THIH H1 Wl & @GN
o frefafgd § 9 & @ we wel @l 8?2
1. % J§f & 9% 9Rd § THT HT Sl
F9 B T
2. =R sfufm 1813 A fafewr $= zfean
HUA B ABE FHT AUNIR  THITHR

e fman 2l
= 3 ™ w2 w1 W@ W e SW g
(a) ®aa 1 (b) Had 2
(c) 1 3R 2 <H (d Tl sRTE2

79. frefafea g | fo=m i@
ara ¥ fofesr @ @R[ EN @ "

1. YA 3 Hfgar (SmEd) 1860
2. 3¢ yfehan dfedr (Hrsmedie) 1862
3. YRdE e sttufey 1872

SWe | 9 fohad g @l gafer €2

(a) oA Th (b) et

(c) ot (d) =8 o T

80. ©ie Hehtel & R ¥ ffeiiad § © &F o Hed
TE & 22
(a) =4 9Rd H wEA & Gledesor &
FehTerd il
(b) T® 1833 & =X AfYTM & qEad Tied
T HIA AN & eI €|
(c) 9% 1831 H 9Rd 1M
(d) 1835 & 37 UG TU1 9 H ‘TRAAE
fohedem e’ U9 1 TE off
81. Frafafaa efuftadl = foem #ifsa:
1. IR 3 Hfea
2. 3 gfskan wfgdr
3. YRdE e AfufTad
T O W oTH 9 feuw defud @ gune

fadas gug o yega Ry o R?
(a) Faa 1 X2 (b) wadd 1 3N 3
(c) *ad 1 @ 1,2 3R3

82, ‘fafer ww’ & sM d F=Afafed Fo W fa=r
Hifsa:
1. 98 9% ¥l & ek UfdeR I9 H
Hafad o
2. 98 YaH a9 9
3. T VAR § g s W faeE g

78.

79.

80.

81.

82.

Which of the following statements is not correct
about the opium cultivation in India during the
19th century?
1. After the opium wars cultivation of opium
in India decreased.
2. Charter act 1813 provides commercial
monopoly of opium to the British East India

Company.
Select the correct answer using the code given
below:
(a) 1only (b) 2only

(¢) Both1and2 (d) Neither 1 nor 2
Consider the following pairs:
British laws in India
1. Indian Penal Code(IPC)
2. Criminal Procedure Code(CrPC) 1862

3. Indian Evidence Act 1872
How many of the above pairs are correctly
matched?

(a) Only one (b) Only two
(c) All three (d)
Which of the following statement is not correct

Enacting year
1860

None

about Lord Macaulay?
(a) He advocated the codification of laws in
India.
(b) He was the chairman of the first Law
commission constituted under the Charter
Act of 1833.
(c) He came to India in 1831.
(d) In his famous minute of 1835 ‘Downward
Filtration Theory’ was introduced.
Consider the following Acts:
1. Indian Penal Code
2. Criminal Procedure Code
3. Indian Evidence Act
Recently new amendment bills related to which
of the above have been introduced in the

parliament?
(a) 1and2only (b) 1and3 only
(¢) 1only (d 1,2and3

Consider the following statements about ‘Mihir
Bhoj’:
1. He wasrelated to the Gurjar Pratihar dynasty
of the 9th century.
2. He was the devotee of lord shiva.

3. During his reign he could not conquer

T X b Kannauj.
S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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83.

84.

85.

86.

IWe W W fohad e wE €2

(a) ®oaA TH (b) wad

(c) (d) g off &

ffafed wol W foeR Fifsa:

1. Hel-AE argehen 1 fasr sufaar o
e

2. oifgar argehenl § YemEed A W FE
of wfhet e

3. oo argehal s ey TR FideR qsiael
q e

ST wmeAl W W B q/A wE 2?2

(a) Fac 1 32 (b) wheel 2 3 3
(c) e 3 (d 1,233

IR Yol WS (HHIE, T R SImE)
sifufad, 2023 & Wed o, fAfafad weml ™
foaR ifer:

1. TE R Yol & T i 3 Yansti &
it R yemEte SR SIS HRETS
FH 1 AGHR 3T 2

2. THH Ie¥T U Thigd (0 FHHig wenfia
HE 2

3. T e Y st frami ar fafemt
o foredt oft aeena 1 v T@ H @

SWe § 9 fohae e wel 87

(a) HIA TH (b) wIA

(c) |t = (d) = oft T
Y 9l H ' 9gee’ IR &% R ° frefated
¥ 9 ®F WA FuE w6 a7

1. 98 TME AR gR 99 9a el
1 &l B

2. 95 9 GO & Sl Agecl & hRO
I HiHE H qag 9€ 9@ o g
Bt B

F= &2 T w2 w1 IT FH GE SR g

(a) ®ad 1 (b) HaA 2

(c) 1 3R 2 g (d Td1ARTE2

frafafe sef | foer w3

1. Hismdits 2. HiTETHTH

3. TS 4. Tyt
IR W W HA P8 A ® GO e
¥ 22

(a) ®ad 1 3R 2 (b) ael 2 3R 3
(c) ®aa 1,2 3R 4 (d) I @it

&3.

84.

85.

86.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d)

Consider the following statements:

None

1. Maha-Maru architecture was developed in
Osian.
2. Osian architecture also included work on
Panchayatan temples.
3. Osian architecture was related to the Gurjar
Pratihar Dynasty.
Which of the statement(s) given above is/are
correct?
(a) 1and?2 only
(c) 3only

(b) 2and 3 only

(d 1,2and3

With reference to the Inter Services Organisation
(Command, Control and Discipline) Act, 2023,
consider the following statements:

1. It empowers heads of inter services to take
administrative and disciplinary action on
personnel from other services.

2. It seeks to establish an integrated theater
command.

3. It does not propose any alteration to the
existing Service Acts, Rules or Regulations

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d)
Which of the following statement(s) is/are correct

None

about the term ‘Fratricide’ in Armed forces?

1. It is the killing of armed forces personnel
by local civilians.

2. Fratricide caused the largest number of
killings of armed personnel other than war-
like conflicts.

Select the correct answer using the code given

below:
(a) 1only (b) 2only
(c) Both1and?2 (d) Neither 1 nor 2

Consider the following forces:
1. CRPF 2. CISF
3. NSG 4. SSB
Which of the above are under the administrative
control of Ministry of Home Affairs?
(a) 1and2only (b) 2 and 3 only
(¢) 1,2and4 only (d) All of the above

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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87. ‘W & staHTET guR' & ued ¥ frAfafea
FHel R faar Hifsa:
1. e e & faw & fod erfea
SITURTET ¥R ARA-<1 € | @9 &
St R
2. O g e ® R eefed W
IRA R I, ik SR qEH ® &
FAfrfad guRl ® off =< fwan < 2l
3. AR URESH off T & STaEE HR

w1 T fewn 2l
I W W o e wel €2
(a) HIA TH (b) Haa I
(c) |t = (d) =g =&l

88. ‘arzeie faoet WMy’ & §eyd H frefafea o @
HIA G HUT FEl Tl 87
(a) THHT 3e¥F G HHEd &= H AR
3R anfeler gremTd GUR wET 2
(b) SHHI JEeTd IH 2018 H g oAl
(c) I® I gFERl o™ @I wAfaefael @i
TSEd L H HEE R
(d) =HHT LT WG Mell ¥ Akl & Yo
1 e 2B
89. i &1 forshra wTdehA & IR § FeAfefad et
T foEr Sifsa:
1. 38 99 9 S HiHredi gerenl @ faemfaa
F 7g IR e T
2. T8 0 T ¥ ®5 WHR 5N o Wi 2
ST wmeAl § W HE qUA wE 2?2
(a) Fad 1
(b) Had 2
(c) 1 3R 2 <H
(d) Td 1 A2
90. BT & § HEE gRI UG T A SN fagawwd
AqET statEm w fefateg § @ wE =6
fagrand €7
1. I8 15 ¥ &9 U= & G&N el T
T Afdn 3R faearwd e Tenfud

87. With reference to the ‘Border Infrastructure
Reforms’, consider the following statements:

1. Most of the funds allocated for border
infrastructure development are spent on the
Indo-China border.

2. Budgetallocated for the border infrastructure
is also spent on connectivity reforms
between India and Nepal, Sri Lanka and
Bhutan.

3. The Chardham project is also a part of border
area infrastructure reforms.

How many of the above statements are correct
(a) Only one (b) Only two
(c) All three (d) None
88. With reference to the ‘Vibrant Village Program’,
which of the following statements is not correct?
(a) It aims at social and economical
infrastructural reforms in remote border
areas.
(b) It was started in the year 2018.
(c) It will help in consolidation of border
infrastructure connectivity.
(d) It aims to stop migration of workers from
the border villages.
89. Consider the following statements about the
Border Area Development Program:

1. It has been started to develop border areas
related to China.

2. It is completely financed by the central
government.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

90. Recently the National Nursing and Midwifery

Commission act was passed by the parliament has
which of the following features?

1. It will establish a national nursing and
midwifery commission with not more than

HAMI
. N 15 members.
2. e Afdn v freaswd fren @ wafua 2. The commission will prepare policy related
Hifq TR . to nursing and midwifery education.
3. THH 10 TRHl oTel U ToF ST w@fid 3. Italso seeks to establish a state commission
FE FH A gEYE 2 with 10 members.
S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
Tt @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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91.

92.

93.

94.

= fS¥ T w2 1 ST HH G8l S| g
(a) o 1 (b) Haw 2 3R 3
(c) ®add 1 3R3  (d) 1,2 3R 3
‘ Afavar yEE’ & Gy # fAfafad e )
fo=r wifsa:
1. 38 998 & I A H 9 foodt ww H
T R S Hehar 2
2. wfaum # sud w2 o 71 R
3. 39 U@ @l U9 A & fad 50 we=
1 TeHfd 1 AevTRal el 2|
ST el § W A qA wE R/R?
(a) Faa 1 @R 2 (b) wad 1
(c) ®aai 2 33 (d) 1,2 33
A & H A fRd T ‘9RA 9T &R gedied
FrFER’ 1 fFefafed § 9 o 6 fagmad 82
1. 8 39 el R ar] arm, 599 gren die
% Tl 8§ 9 ARl € T s
2. 399 dF OMESl & YR W gRE HEE b
Tl § WR T YSH FE el yomedt
F= &2 T w2 w1 IT FWH GE W g
(a) Fad 1
(b) e 2
(c) 1 32 <H
(d Fd 1 A2
S 3R g delieRtur (FeMeA) sifufrEm, 2023
¥ frefafad & 9 wH @ g 22
1. 9 % IR TF SH W W 59 3R 9
1 SO S T H1 TEUME B
2. a8 Tafecn geuml +i saa s9 Heead
fEdER &1 9 & SR & Ioo@ w
ATl FHIOT U5 SR R Wl SR <l @
3. S USieRR & Hel | A 3uersd @
Tg Ha-far R gEa 39 9 & SR
T G H UL HAT
IS | U fohae wem @l €7
(a) FaA Th (b) wad
(c) Tt o=t (d) w8 o T
€ HYF sk o i SEd A AR Al
79T | S=ET WE 1 haed grn’, fefafea |
T fFg o=t & vide 1 feew 72

91.

92.

93.

94.

Select the correct answer using the code given
below:

(a) 1only (b) 2and 3 only

(¢) 1and 3 only (d 1,2and3
With reference to the ‘No Confidence Motion’
consider the following statements:

1. Tt can be introduced in either of the two
houses of the parliament.

It has no mention in the constitution.
It needs the consent of 50 members to
introduce the motion.
Which of the statement(s) given above is/are
correct?
(a) 1and2only (b) 1only
(¢) 2and 3 only (d 1,2and3
Which of the following is/are the features of
recently launched ‘Bharat new’ ‘Car Assessment
Programme’?

1. Tt will be applied to those vehicles which
have seats not more than 8 other than the
driver seat.

2. It has a star rating system regarding the
security standard based on three criteria.

Select the correct answer using the code given
below:

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2
The Registration of Births and Deaths (Amendment)
Act, 2023 has which of the following features?

1. It has provision to maintain a database of
birth and deaths both at central and state
level.

2. It mandates medical institutions to issue
certificates mentioning cause of deaths to
his nearest relative only.

3. In case of birth registration it seeks to
collect AADHAR number of the parents and
informer if available.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
The statement ‘It shall be the duty of the Union to
protect every State against external aggression and
internal disturbance’ , is part of the heading of
which of the following Article?

(a) TR 354 (b) =T 355 (2) Article 354 (b) Atticle 355
(c) TR 356 (d) 3T=T] 357 (c) Article 356 (d) Article 357
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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95. ‘&I WEwe &F ITH (CPEC)' & aR #
frAfafea wul | faar wifa:
1. ¥Tel T e T fatee- foRw,
TERe ST B
2. el gfea fafite ww Jovet ST 2
3. od9 H WA H 13 HENeT wurTEr 2l
IE wUA W 9 wE /A TE 22
(a) Fod 1 32 (b) el 2 3 3
(c) ee 3 (d) Hae 1 3R 3
96. ‘gd 9IRd VYA Ao’ & §ed H, ffafed
o ¥ ®E W HeH T T B2
() 3 Q@ 9Ra ¥ 1300 § 3k Vel &
YRR & faa a9 2021 # & TR
T |
(b) ¥ Wy wad T weptd, fawwa ek
RGRE T STMUIRA =il
() 3 WAl @&l ‘fHdt FeU' s@unon & &9
H fasfaa faean =1 @1 2
(d) 98 ‘T VIF & IAR A’ § S
Bl
97. 3T AYFIH & =3 80-IAC & T&d
I H B2 & Hay § e & fo fefafaa
o 9 % 9 HFEE Wi 2?2
1. TS HT Al THE TH W™ gl

=

2. I8 T UgoR fafiee = Hiftd <o awier
BT =

3. SMEEA T ol 3R 1 3, 2019 &
qE Y& g3 B Al

I fed MU w2 F ITM FE TG IW T

(a) Facd 1 32 (b) wHaed 2

(c) o 1 33 (d) 1,2 33

98. GIFTIFSC & §3y ¥, frfafad el W fo=r
EAIEpE
1. o @ik THIES N AYFe Wi T
* WU-TY Y@ A i faaeh Sfem
e w1 TEd Sufeefd 2
2. WIE o AT HUA THH AR B Fehell
2, 9 9% e ¥ € frd wie e

95. Consider the following statements about the
‘Central Public Sector Enterprises (CPEC)’:
1. Oil and Natural Gas Limited- Videsh, is a
Maharatna company.
2. Oil India Limited is a Navratna company.

3. Currently there are 13 Maharatna companies
in India.
Which of the statement(s) given above is/are

correct?
(a) 1and?2 only (b) 2and 3 only
(c) 3 only (d) 1and3 only

96. With reference to the ‘Amrit Bharat Station
Scheme’, which of the following statements is not
correct?

(a) It was started in the year 2021 for the
modernisation of more than 1300 stations
across India.

(b) These station buildings will be based on the
local culture, heritage and architecture.

(c) These stations are being developed as a “city
center’ concept.

(d) Tt will be associated with the ‘one station
one product’ scheme.

97. Which of the following criteria are acceptable for
the application regarding rebate in income tax
under article 80-IAC of Income Tax Act?

1. The applying unit must be a startup.
2. It should be a private limited or limited
liability partnership.
3. The applying unit must be started after 1
april, 2019.
Select the correct answer using the code given

below:
(a) 1and?2 only (b) 2only
(¢) 1and 3 only (d 1,2and3

98. With reference to the GIFT IFSC, consider the
following statements:
1. Bombay Stock Exchange and National
Stock Exchange along with major Indian
and foreign banking institutions have their
presence in it.
2. An Indian company can be enrolled in
it whether already enrolled in any stock
exchange or not.

| o & ) Which of the statement(s) given above is/are
SwE wAl W W s /A TE 2?2 correct?
(a) o | (b) e 2 (a) 1 only (b) 2 only
(c) 1 3 2 <H (d) a1 eRAL2 (c) Both1and?2 (d) Neither 1 nor 2
641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
e 2w
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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99. ‘Sei-atefegereen’ vre & Ged H, Frefafaad wemi

100.

T foar Sifsa:

1. 3od S HEEEl w1 IQE, S St
&1 It 2

2. YRA ! Sel-refegeree &1 GrEH 100 fafemm
<R ¥ a2

3. 9Rd ¥ THY S8 dNRee Wit fusd 10
Tl ® 100 T ¥ SR 98 T T

IR § 9 fohad &ed & ©7
(a) HIA TH (b) HaA
(c) =t ol (d) HTE off &

oot foord A % Hel ¥, Pt wer W

fo=m wifs:

1. IE Sehi I e ¥ YIed [T ST T M
%01 foafid F6 F1 AN 3 B

2. I8 BUIN S 1 U faawor Tiafafy
HHdT H B

U el W W A qA wE RR?
(a) Had 1 (b) HaA 2
(c) 1 3R 2 T (d T 1 AT 2

99. With reference to the term ‘Bio-Economy’,

100.

consider the following statements:
1. It includes production, consumption and
protection of biological resources.
2. India’s bio-economy contribution is more than
100 billion dollars.
3. Biotech startups related to it in India have
increased more than 100 times in the previous

10 years.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

With reference to the Full Reserve Banking,
consider the following statements:
1. It allows banks to disburse loans based on
demand deposits received from customers.
2. It always supported the loan disbursing
activity of the banks.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
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